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R FIEE - 2UVHEATIAS  204FAlkE AR _
T FRE - 7% (A/nd) | (/nd) (%) HEEE
s -1 WK 2R3 THL42%4 196, 000 202,000 -3.0 | [&#3-11-38)
e -2 HETER RME4THL21%2 105, 000 108,000 | -2.8 TkE4a—1-22)
e -3 HmiEX A6 THSHE 7 156, 000 162,000 = -3.7
3 -4 HETER JIIG2TH2 9%3 7 132, 000 136,000 -2.9 | ia2—16-16)
e -5 WX THRH6 TH24%1 04+ 153, 000 158,000 @ -3.2 | IFRmM6-15-10]
3 -6 ERRATZEX RELVENT 1 2% 2 219, 000 227,000 | —3.5 @ [dtdipar 2 -2
*FE -7 FRIATZEX PHELERT 1 9% 7 243, 000 253,000 = —4.0 | TWEEZE19—16]
e - 8 WX W4 3 TH2804%F1 101, 000 105,000 | -3.8 | 43— 11—11]
e -9 WX FH2TH1& 145 167, 000 174,000 4.0 | FH2—-1-11)
e - 10 FRIATiZEX RKIAAT 7 5% 2 153, 000 160,000  -4.4
e - 11 WX B L2 TEH120%55 106, 000 108,000 -1.9 | MR E2-5—5]
e - 12 HTER A1 TH104%3 159, 000 164,000 | -3.0 | #m1-9-2)
e - 13 FRIATiEX SRAAT 2 3% 8 206, 000 211,000 | -2.4  (momres—14)
e - 14 i hZER BEIF1 THS 6 3%2 136, 000 140,000 | 2.9 | 'Rl —6-5)
e - 15 WX fE1TH175%6 93, 600 97,400 3.9 | M1 -6—11)
e - 16 BT K4 THG6 4 4% 244 170, 000 174,000 2.3 | Tkmd—19-13)
e - 17 i hZER b ZRA4TH1064%2 172, 000 176,000 2.3 | Mpxsd—4a—4)
e - 18 BT THE6 THS81 1%S3 133, 000 137,000 | 2.9 | fwE6—3-3)
e - 19 Bz ERYE2 THS 1 7%&7 186, 000 192,000 -3.1 | (k&g2-9-40)
¥* 5 - 1 X mMEHT 1 TH6%6 327, 000 349,000 | -6.3
¥ 5 -2 B ZER IR 1 TH5%6 168, 000 177,000 5.1 | (igeri—a—1o0;)
¥ 5 - 3 iR A5 T HSES54 162, 000 172,000 = -5.8
¥ 5 - 4 B misE K N 2% 5 595, 000 660,000 | -9.8
¥* 5 - 5 Frr thZE K fISERT O % 2 1,390,000 1,560,000 -10.9
¥ 5 -8 WX ERE1TH4%EA4 341, 000 374,000 8.8 | MEE1-4-3]
#*% b5 - 7 B TZE X BAAINT 4 % 3 736, 000 818,000 | -10.0
¥ 5 -8 X BZE 1 T H 4 3% 444 214, 000 231,000 | -7.4 @ TEggE1 -2 -9
¥ 5 -9 WX ERE3THSE7 310, 000 341,000 -9.1 | (%388
*% 5 - 10 iz X ARAT2 TH 6% 8 1,530,000 1,690,000 -9.5
¥ 5 - 11 FRETEEX )\ FRHT 2 4 2% 3 199, 000 218,000 = -8.7
¥ 5 - 12 T PUKAT 2% 1 3 162, 000 171,000 = -5.3
¥* 5 - 13 TR —FKHT1 25K 6 176, 000 186,000  -5.4
¥ 5 - 14 AT R 2 4% 2 160, 000 167,000 = -4.2
¥ 7T -1 HMTEX EE2THOEL 2 153, 000 157,000 | -2.5 T[EW2-7-11)
7T - 2 FizEX HIT2 TH 3% 3 165, 000 173,000 -4.6
#* o9 - 1 i HZEX BIRT 1 5 6 % 14+ 86, 600 90,000 -3.8
10— 1 HmmiEX FE T N5 3 9% 2 58, 800 61,300 | -4.1
10 - 2 A TZER 2B OHmTAN 1 4% 2 66, 500 69,100 | -3.8
#* 10 - 3 B MK TP 1540%3 1 72, 500 75,600 | —4.1
(530 -1 HE R x HEH 6 6 7% 1 147, 000 153,000 | -3.9
(530 -2 wmmsRx AJIE2TH14%6 128, 000 131,000 -2.3
(530 -3 T A1 TH7 4% 7 103, 000 106,000 | -2.8 | TAT1-6-82]
3730 - 4 wMmss R B2 TH3 2 7% 24+ 130, 000 136,000 | —4.4 | w2 —14-23)]
(530 -5 TR KAFIHE/ B5800%K2 8 89, 000 94,300 | -5.6
3] - 6 st PH2 TH204%3 176, 000 182,000 | -3.3 | Im2z-5-34]
(530 -7 wmissmE kAL F2TH1417%5 89, 500 92,800 | -3.6 | Mthrz—20-5)
520 - 8 SR PRI E 7 0 5% 1 1 104, 000 110,000 = -5.5
(530 -9 T FH2 TH385%40 155, 000 158,000 -1.9 T#m2-11-18)
73] - 10 R CE 1T TR 1 7 1%5 131, 000 137,000 4.4 | g1 -12-24)
(530 - 11 T JNE3TH2 4% 1 134, 000 138,000 | -2.9 | ME3—8—38]
(530 - 12 B TR MESIEHEEE1 17 4% 2 4 121, 000 126,000 | —4.0
(530 - 13 e X FREARHERE4 7 8% 4 94, 600 99,100 = -4.5
730 - 14 FrmiE R FETHE 2 2 0% 5 111, 000 117,000 | -5.1
Rl 5 - 1 T NE1TH36 4% 14+ 147, 000 153,000 @ -3.9  ME1-24-28)
Rl 5 - 2 wmEmsEEx AH1TH20%E1 210, 000 210, 000 0.0 [AmM1-1-34)
BRwl 5 - 3 wmEmssEx &2 T H 6 & 94+ 202, 000 211,000 @ -4.3 | TA#E2—11-9]
BRI 5 - 4 s iR NRE3TH1 4 75 170, 000 180,000 5.6 | ThE3-8—11)
BRI 5 - 5 g miER K FEHTHTE T 1 25% 1 162, 000 173,000  -6.4
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I FRE - 7% F | | e R
Rl 5 - 6 Sl R PHAR1 39 0% 3 180, 000 191,000 | -5.8 | ThmAN55—70]
Bl 5 - 7 T a6 TH29 1% 1 348, 000 336, 000 3.6 | M46—4—28)
Bl 7 - 1 SR BOFTH 1 TH26 5%6 107, 000 111,000 | -3.6 | M#m1—-13—16]
Bl 7 - 2 s miEK M3 TH4 2 18% 1 109, 000 115,000 = 5.2 | THE%E3-16—5]

Bl 7 - 3 Frid e ST 7 5 3% 3 89, 600 94,500 = -5.2
BRwl 7 - 4 e F)IE6 TH2 6% 3 120, 000 128,000 = —6.3 | TFIE6-26—8]
B 9 - 1 widETR FEHEH 1 TH480% 1 1 85, 800 88,000 -2.5 | (E&M1-3-27)
BRyl 10 - 1 T RT3 2 7% 34+ 45,500 47,500 | -4.2
*TE K -1 AR EACET 4 5% 143, 000 148,000 | -3.4 | MERars —17,
1Bk -2 FrmiEAR —RTITM8 5 2% 1 5 62, 700 65,000 -3.5
S -3 kR FTEH 2 5 8FK 7 106, 000 110,000 = -3.6 | FEH18 1]
1Bk - 4 HmEAR Y HBRTREET1 80K 10 115, 000 118,000 -2.5
S -5 HTiEAR B2 TH1585%2 105, 000 108,000 | -2.8 | M#fz—11-20)
1Bk -6 HrA TS AR JRRIETFRE Y 4 4 7% 9 89, 800 91,800 -2.2
1Bk -7 wmiEAR 1A 4 THS598%1 3 69, 300 71,400 | 2.9 | HiF4a-9-19)
157K - 8 H AR =GR 3 4 53 1 4% 122, 000 125,000 = -2.4  T=mrs5-23)
1Bk -9 HtEAR FH1THL 16%& 124, 000 129,000 -3.9 | [#H1-5-35]
157K - 10 g miEAR LRI 063F1 9 120, 000 123,000 | -2.4
15K - 11 e AKR AHRK1 TH228%FE50 123, 000 126,000 | -2.4
1Bk - 12 B TSR MM E2 TH1357%29 110, 000 113,000 | -2.7 | r#s#pig2 —8—5)
1Bk - 13 AKX AHHEHET 2 6 0% 14 134, 000 138,000 = -2.9 | TmmEr1s -9
157K - 14 AR ) FHRIAH 3 6 % 4 104, 000 108,000 = -3.7
157K - 15 FRITTIEARR PFEART-HITIIN2 2 8% 1 7 113, 000 116,000 = -2.6
TEK - 16 B mEAIX JHEMIRTAR 1 3 0% 14+ 63, 700 66,200 = -3.8
Bk - 17 s miE AR R T EIERS 6 67K 3 6 75, 700 80,000 | -5.4
1Bk - 18 k-1 [EMiiskE B AT RE T E 3 0 4% 2 77, 400 80,300 -3.6
157K - 19 HEe-2 EEdiEkx BESERET 1 9 3% 5 4 4k 72, 500 74,700 | -2.9
®HAK 5 - 1 kX THET2 TH 1 2% 163, 000 167,000 = -2.4 | [xtar2—10-22)
K 5 - 2 wEmEkX SR 2 8 9% 151, 000 155,000 | -2.6 @ [4yE3 5]
EAK 5 -3 HmEAR KEF1 T H4 2% 1 147, 000 152,000 | -3.3 | (kHF1-3-10]
Bk 5 - 4 HhmE AR AT 1 T H 3 2 9% 136, 000 139,000 -2.2 | I —5-10]
K 65 -5 wmiEAkR AJL3TH1196%2 123, 000 127,000 -3.1 | TAIT3-3—11]
K 5 - 6 wmiEAR BHE1THL O 8% 204, 000 208,000 | —1.9 [&1-8-16]
K 5 -7 it AkR KFE1THT7 9% 34+ 129, 000 133,000 -3.0 | TkF1-7-13]
EK b - 8  HES-1 EMiE kR TR 8 3% 80, 300 83,900 -4.3
EAKk T -1 AR EgRdbET 2 5 5% 4 78, 500 81,700 | -3.9 | [EEdLEro — 4
WAk 7T - 2 B A RIFFRIES 6 1 9% 14+ 66, 200 68,000 = -2.6
WAk 7 -3 e A AT R 5 8 4% 14+ 77,100 79,900 | -3.5
WAk 7T - 4 AR TR T ES 1 4 5F 2 68, 100 70,300 | -3.1
WAk 9 - 1 s miE AR FH)IFAH 8 0 03F 1 72, 900 75,500  -3.4
Ak 10 - 1 B K B BT 3 7 A2 1 60, 000 63,500 -5.5
Bk 10 - 2 BN BAARTREE2 9 9% 74 67, 500 70,200 | -3.8
HH -1 AT KT 3 2 6 % 1 88, 300 90,000 | -1.9 | rx#ur12-19)
i -2 ERTTHRX EE1TE27 4% 90, 300 92,300 2.2 | (k1 343
i -3 ERHTX mfE1 THI9SEL 85, 600 88,400 3.2 | M1 —19-12]
HH - 4 EMTHHX ME3TH19725%1 54 115, 000 118,000 | -2.5 | M3 —4—21)
i -5 ERTPX s 6 TH125%1 14+ 111, 000 115,000 -3.5 | (a6 —25—6)
*Hp -6 ERHFX 2 TH294%F15 85, 700 89,300 | -4.0 | f#2-37-10]
H -7 TR EEHE 1 THG6 3 7%&2 81, 500 85,500 | —4.7 | [E%mE1-9-38)
i - 8 TR AR 7 8 0F 85, 300 87,700 = -2.7 | TEAW37T-5)
H -9 ERT X BAR3THS 99%F 1 99, 200 102,000 -2.7 T@EH3-12-35)
H - 10 TR VEFHGRT 2 7 7 0% 2 94, 000 97,300 | -3.4 | (EpHRIr28-—20]
*Hp - 11 TR ILFAT4 8 9 9% 64} 136, 000 140,000 = -2.9  TLFErs7—3)
i - 12 ERTPR EHEI A1 299%3 4 84, 900 87,300 -2.7
HH - 13 EIRTH X SCERT 1 8% 5 81, 200 84,000 | -3.3 | [XEEI18-8)
H - 14 ERHTX A2 TE332%&10 103, 000 106,000 | -2.8 | Wk2—13—15]
H - 15 EMHHX 321 TH233%2 79, 600 82,100  -3.0  ®#1-1-25]
i - 16 TR FiARr5fhsE2 3 7% 34+ 70, 500 73,000  -3.4
HH - 17 TR mEdb1 TH1I32%7 88, 100 90,500 | -2.7 | (@Ed1-32-6]
i - 18 TR NEH1 TE409%S54+ 80, 500 83,000 @ -3.0 | hEBE1I-36-21)
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I FRE - 7% (\/nd) | (/nd) () HEEE
H - 19 EIRHTX k4 THS515%20 85, 000 88,000 | -3.4 | MKE4—15-28]
H - 20 ERHFHX 23 TH643%16 82, 700 86,100 | -3.9 |r#3-16-43)
H - 21 ERTHX FE2TH1149%1 83, 000 84,000 | -1.2 | (E@m2-21-23)
H - 22 ERH X B2 THL 1L 77%S5 100, 000 103,000 = -2.9 | THpHE2-8—15]
o5 -1 WX WEH2 THL15%2 104, 000 108,000 = -3.7 @ TifEE2-15-3)

b5 - 2 ERHX TR 3TH L 8 0& 24+ 103, 000 106,000 = -2.8

*f 5 - 3 TR AR 0 2% 1 34+ 243, 000 270,000 | -10.0

5 - 4 ERTHTX K5 THS 7 9% 14+ 104, 000 109,000 | —4.6 | (Ek5—6—15]
5 -5 ERH X 1 3 2% 1 4 147, 000 151,000 -2.6

5 - 6 ERAHTX P2 TH110%18 221, 000 240,000 | -7.9 | k2-10-22]
o5 - 7 ERATTHRX FREERTS-HREERT 5 9 & 104, 000 108,000 = -3.7

5 - 8 ERF TR TRRITTHRET7 1%&1 378, 000 445,000 | -15.1

o5 -9 ERTTHX HIT3 2 4% 7 240, 000 270,000 | -11.1

5 - 10 ERTTHRX O EH2 8 6% 1 108, 000 111,000 = -2.7

o5 - 11 ERATTX HHT3 1 6% 38 303, 000 340,000 -10.9

o5 - 12 ERlPX FE1TH106 1% 95, 000 97,200 | -2.3 | ThE1-36—3]
5 - 13 ®ER ERTHTR FETT A6 9 5 FN 102, 000 - -

o5 - 14 ERATPX RHT2 15%2 7 119, 000 122,000 = -2.5

5 - 15 ERTHX TERT1 27%2 5 112, 000 116,000 -3.4

5 - 16 EIRTHTX W2 TH370%47 101, 000 106,000 | —4.7 | #H2—13—3]
o5 - 17 ERTPX EBAE5THL 2 8%&24k 116, 000 120,000 | -3.3 | Mamas5-28—2)
o7 -1 ERTTPX N GEE3TH1416%7 75, 600 77,700 | 2.7 | ThEBE3-11-18)
R -1 ERTTHRX ST 1 2 8% 3 83, 300 86,000 = -3.1

* I -2 AT R _EPERT T 2 6% 8 95, 700 99,300 -3.6

R -3 TR KW 5B e 2 7% 9 7 73, 100 75,300 -2.9

R - 4 TEATT X A HAT ST 5 2 3% 6 66, 200 67,700 -2.2

0 -5 EMTRX M5 TH21 48%4 87, 500 89,800 2.6 | PEmiis—12-9)
H -6 ERAT X PR EREEIL3 9 8% 14+ 62, 100 63,500 @ -2.2

" -7 AT HRX FERARAT AT 1 0 7% 24} 80, 000 82,400 | -2.9

W5 -1 LT RX EHRAT2 4 4% 2 04 94, 000 98,000 | -4.1

W5 - 2 EATTHRIX FIEATS S 7 9 3% 2 126, 000 133,000 = -5.3

W 5 - 3 TEAATH B 8 o WEET VI HIH 1 3 6 4 1 90, 700 93,200 -2.7

W7 - 1 EEE | ERTERX REETTME 1 9% 60, 700 - -
W10 - 1 AT P67 IG5 T %16 1 5% 1 63, 100 64,400 -2.0

W10 - 2 ERTTHRX FXIF—TH194%6 46, 800 47,800 | -2.1

[ié] -1 AT VE K S SEr TR R 5 3 87 1 0 71, 000 73,200  -3.0

75 -2 AT X BEFHAT I 4 1 1% 57, 000 58,600 | -2.7

[ié] -3 TEAA T VE K 4L FET TS 2 4 5 5% 1 49, 000 52,800 | -7.2

i) - 4 TR AT EZRERT7 9 2% 3 87,900 90,200 @ -2.5

i) -5 AT R FEAT2 0 5 6 0% 65, 100 66,800 @ -2.5

[ié] -6 TEAA TV X SEBRET TR 4 1 6 97K 2 58, 900 63,000 -6.5

[ié] -7 AT X MRITARSETEES 15 454 46, 600 50,000 | -6.8

[ié] -8 TEAATH TG X MBI AT /b4 7 6 1% 1 76, 900 79,900 | -3.8

[ié] -9 TEAATH VG X HEBEHT (LR ATRT 3 5 4 2 7 2 4¢ 51, 700 54,400 -5.0

w5 -1 TERATPE X SRR ZERTIT 1 9 7 6 % 1 63, 900 68,000 | —6.0

w5 - 2 RN TTPE X RERSHT R0 R0 I 7 9 9 5% 1 76, 400 79,500 -3.9

o7 -1 AP X JEBRET I 6 9 8 & 60, 200 63,500  -5.2

W10 - 1 EARTPER PEILET S Y 105 5%8 4 62, 300 65,700  -5.2

£ -1 ERTIREK BT TFESM 1 5 3 5% 52, 600 55,400  -5.1

£ -2 EAATRX 5B KAERT6 4 07% 2 75, 100 76,800 | -2.2

£ -3 ERATEX BMk2 TH1717%23 43, 800 51,500 | -15.0 | M2 —14—3)
£ - 4 TEAATIREIX HEEAT 1 6 4 0% 1 75, 700 77,900 | -2.8

£ -5 ERTTHEX =S5 E5 8 9% 3 76, 700 78,300 | -2.0

£ - 6 TEAATRIX AT 3 33K 6 81, 000 84,000 @ -3.6

moo9 -1 TR IX RN B 1 7 03 1 4+ 47, 000 50,000 -6.0

B 9 - 2 EAATTRIX AREAT5FE 3 2 53 34+ 49, 900 52,500 | -5.0

B 10 - 1 TEAATRX /NRERT AL S 4 2% 2 55, 300 56,800 | -2.6

B 10 - 2 ERTREX AP RM7 0 1% 52, 400 53,500 | -2.1

B 10- 3 IEATTRIX FER 5 AH 1 8 5 0% 63, 300 64,600 -2.0

B 10 - 4 ERTREX HIF—FS 0 7 7% 2 59, 500 60,500 @ -1.7
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FEYEHN Hi4E - 2UVHEATIAS  204FAMkE  AEhER _
I FRE - 7% (\/nd) | (/nd) () HEEE
B 10-5 TR AR TEE/ &7 9 3% 2 58, 500 59,600 | -1.8
B 10- 6 EAATTRIX 7O A 5414 6 9 6 &K 7 49, 700 51,000 | -2.5
1t -1 TERATTALR MITHTRI Ry F8 8 8% 2 2 5 49, 400 52,300 -5.5
it -2 AT ANTHT RS 1% 1 6 1 6% 3 5 42,700 44,800 4.7
1t -3 ERATILIK BIERTHOH A FRT {5 6 8 7 1 8 40, 200 42,400 | 5.2
1t - 4 TERATTALR BT &R FIi4d5 1 58 0% 2 9 50, 400 52,000 | -3.1
i 5 -1 TEATHACIX TS BEEEIT9 8 9% 1 ON 61, 500 64,000 -3.9
& 5 -2 HEAATRALX BIHERT AR 6 5 7 % 4 44 48, 000 51,700  -7.2
d 5 -3 ERATALR =0 BB =, HEW M9 14 %4 5 61, 400 66,500 @ -7.7
I 10- 1 ERATALX =5FT2 14 5% 1% 63, 400 66,600  -4.8
It 10- 2 IEARTHTALK HITET/ N E9 2 8 97 9 32, 600 34,400 | -5.2
Jt 10- 3 TEATHACIX. = BT RIGETEN 10 28 1 744 48, 500 51,000 -4.9
It 10- 4 IEAATHALIR =5 AOTALRTHR S 8 2% 1 64 20, 700 22,500  -8.0
ik -1 TR FHEE T A6 3 3% 6 66, 200 67,200 -1.5
*b -2 watEx MA4 1 7 75, 000 76,700 | -2.2
At -3 TR A2 15 5% 78, 500 79,400 | -1.1
wmE 5 -1 ERATTRILR /MAT R4 34 9% 1 14+ 87, 500 91,000 = -3.8
EA 10 - 1 R B O TRTRES 8 93% 544 49, 500 51,000 -2.9
EAL 10 - 2 mEaTRER SFE2 9 3 3% 24 52, 900 54,000 -2.0
Ik 10 - 3 TR RETIRE2 14 7% 41, 000 42,000 | -2.4
Ktk -1 ERH RGN KOETHES 4% 1 3 44, 800 47,300  -5.3
K -2 TR IR NF RIS 1 2 9% 12, 100 12,800 | -5.5
PN -3 IR FEITETIA M 15 8% 1 14 7, 800 8,600 = —9.3
K -4 WERATIRHER ML A AT/ E) 56 2% 1 5 4,700 5,000 -6.0
PN -5 R RER BEILT PR LTES2 4 789 1, 680 1,790 | -6.1
Ktk -6 ERATRIER e AR AR 2 6 6 28 1 12, 600 13,300 @ -5.3
K& -7 ERATTRER AT REE 16 7 6% 2 14, 100 15,300 = -7.8
Ktk - 8 it RER KEMREEFZ 3 38 3% 1 15, 000 16,300 8.0
Kii b - 1 AT RER REITEETYE 16 0% 1 59, 500 63,000 -5.6
Kk b - 2 ERATRHER /A RTETH)I 2 8 4 67K 3 24} 17,900 20,100 -10.9
Kii b5 - 3 it RER KEMEEFE 2 5 9 33/ 19, 600 22,100 -11.3
THHE -1 VHHET KIUET5 0 8% 1 4 149, 000 150,000 | —0.7 | kw137
HHE -2 T FAAHINT 5 5 6% 4 123, 000 124,000 = —0.8 | THAMIT 1320
THHE -3 T ETFFm@E4 2 4% 15+ 77, 000 81,000 -4.9
THHE - 4 T TEHEETA/ HE802%26 103, 000 104,000 | -1.0
THHE - 5 VHHET HHET6 7 9% 3 125, 000 126,000 -0.8 | r&murss—3s)
* VR -6 VHHET S“HAETH RT3 4 7% 6 139, 000 141,000 -1.4
VA -7 T RHERT 2 7 6 % 111, 000 112,000 0.9 | MhHEmr20—15)
THHE -8 HHET AKFEMT 85 0% 4 116, 000 117,000 -0.9
THHE -9 T JFEkh1 702%4 4 101, 000 102,000 -1.0
THHE - 10 T SRFTEET6 8 9% 1 9 99, 000 99,500 -0.5
THHE - 11 HHET FMT9 2 9% 3 121, 000 122,000 = 0.8 | (#0243,
THHE - 12 T CHERT 1 33K 7 117, 000 118,000  -0.8
THHE - 13 HHET IWEHR144%4 137, 000 139,000 = -1.4 | TEA15 5]
THHE - 14 T VI Ea@2 7 4% 24+ 115, 000 117,000 = -1.7
THHE - 15 T BRI B 1 7%& 17 103, 000 104,000 | -1.0
THHE - 16 VHHET IhRE8FE 1 344 95, 000 96,000 -1.0
THHE - 17 HHET HHBEFEE1 3 0% 18, 500 19,500  -5.1
THHE - 18 T FHTEmM1S574%1 04+ 39, 800 42,000  -5.2
BeEe 5 - 1 T R 1 9 7% 84t 110, 000 111,000 -0.9
WHHE 5 - 2 VHHET KFEHS5TH71H74+ 342, 000 348,000 | -1.7 | TAFI5-8—2)
WHHE 5 - 3 HHET KFER5THEH170% 283, 000 288,000 | —1.7 [AFH5-5—3]
HHE 5 - 4 HHET EHT 1 2% 3 169, 000 172,000 = 1.7 | f#Er12-3)
WHHE 5 - 5 T ZEET7 6 8% 2 143, 000 145,000 -1.4 | (=[EN13-45]
WHHE 5 - 6 HHET FHT 7 8 3% 34 153, 000 155,000 | -1.3  [#W5-5]
*VHE 5 - 7 HHET KFEH5THSL 7%&24+ 395, 000 401,000 | -1.5 | TkF5—2-3)
WHe 5 - 8 T FHTEAK410%&1 3 77, 000 79,000 | -2.5
WHE 7 -1 HEETH TARFE 4 1% 1 103, 000 104,000 -1.0
HHE 7 - 2 HHET AAT2THEH121 7%5 118, 000 119,000 -0.8 | f@dker2—14-7;
HHE 9 - 1 T NIRRT NE 9 0 9 F 58, 500 59,500 | -1.7
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FEHUEH FIEE - 21 20 I _
F 5 # P - 0% (i) |y | R
W 10 - 1 BT ZHTFE)N6 84F1 14+ 62, 000 64,000 @ -3.1
Wi 10 - 2 HHET PEHZGETPEET6 1 5% 1 2 48, 200 49,800 = -3.2
Wi 10 - 3 VHHET KEFHE2 87 474 3 4 68, 700 69,500 @ -1.2
B 10 - 4 VHHET —ARWTTHES 0 5% 67, 000 68,500 | -2.2
A 10 - 5 VHHET LANNFHIEG6 75%8 53, 800 55,600 | -3.2
i -1 BT FELFEK 4 4 2%6 59, 400 60,000 = -1.0
it - 2 BT RITE EATER1 4 0% 5 48, 800 49,300 | -1.0
B - 3 BiEti  RET16 0 1% 1 84+ 73, 000 74,500 2.0 | tars 23]
it - 4 BT PHILET6 0 1 & 1 4 70, 200 71,500 | -1.8  [mimr3s—5;
g -5 gl HIERT1883%F124 60, 000 60,800 = —1.3 | M#sEari—3)
it - 6 BT FEETERBES19%9 58, 500 59,000 | -0.8
g -7 gl TEEFHIFA 38 3% 6 59, 400 60,000 | -1.0
oty - 8 Bl GralT EERL L2081 740 54, 800 55,200 @ -0.7
g 5 - 1 BT MEART1 8 4% 5 151, 000 155,000 | -2.6 TmsA#r4—19)
*Bl 5 - 2 BT RIERT 3 5 7% 5 149, 000 153,000 = -2.6 | reEars—o9)
BiE 5 - 3 ETE BT TZHETWM4 3 3554 71, 500 - -
= -1 =& FEIRAT 4 7% 3 101, 000 102,000 -1.0
* = -2 =B KEH2TH3547%2 151, 000 153,000 | -1.3 [KEE2-13-15]
= -3 =& AHFME231 3% 93, 000 94,000 | -1.1
= - 4 =B HHT2 6 45 8 124, 000 125,000 | -0.8 | T##ris—2s)
= -5 =& EAATHT724%5 95, 000 96,000 | -1.0 | M&Ef4-33—17)
= -6 =& HAT1TH702%10 140, 000 142,000  -1.4 | (AR —3-27)
= -7 =& HET8 8 43K 7 140, 000 142,000 | -1.4 | r#wri—12)
= - 8 =B FHETS 2 5% 6 139, 000 141,000 | -1.4 | rmer7 —27;
= 5 - 1 =& AET1747%F1 184, 000 187,000 = -1.6 | (AE3-36)
= 5 - 2 | BER =B FHIT2 6 3 5% 54+ 178, 000 - —| HHr9—27)
= 5 - 3 =B JLHHBET1 3 9 0% 2 154, 000 155,000 | 0.6 | Mkmare—21)
x=k 5 - 4 = —&HT2 70 0%6 45 303, 000 306,000 | -1.0 | —®Wi15-21)
=B 10 - 1 =B AEFR/AL1982%ES56 68, 000 69,000 = -1.4
=B 10 - 2 “BH EHTTES/H436F10 46, 000 50,000 -8.0
BELtE -1 BhERH NIV ARAE48 1% 62, 800 65,000 @ -3.4
CECE el JFEFAT1 38 7% 65, 500 67,500  -3.0
T -3 BLEW rWEHETEIARA 108K 4 40, 500 42,000 | -3.6
B - 4 BLEW rWEHETETER3320%2 4 51, 800 53,500 | -3.2
BLtE -5 BLEm WARTHIR46 3F3 44, 500 46,400 @ -4.1
HEtH -6 BT SMEHRT 1 5 5% 9 46, 000 47,800 & -3.8
gtw - 7 BhEm WNIr25%F 11 63, 500 65,400 = —2.9 | @112
BLt® - 8 BLET #xAKHT5 7 9% 57, 500 59,600  -3.5
CENCE el R4 7 4% 70, 200 72,400  -3.0
EEN ) BELEm ERTHARN380FG6 51, 300 53,200 -3.6
BEE - 11 BEEW SRTFER1638%F194 50, 500 52,300  —3.4
BLE - 12 BLEm /MRTIKHE566%F10 56, 000 58,000 -3.4
sE+E - 13 BhET HOES 1 2% 73, 500 76,600 —4.0
BLE - 14 BtEW KPETHA857%4 51, 300 53,800 -4.6
BLE - 15 BELEm BHFEH989%F 1 14+ 54, 600 56,600 | -3.5
BEtE - 16 BlEdh BELR,rE846% 59, 000 61,000 -3.3
BEE 5 - 1 BELEm K16 2%4 95, 000 99,000 @ -4.0 | TKEW13-6)
BLE 5 - 2 BLElH NIV RE6 9 1FS 69, 200 71,500 | -3.2
BELt® 5 - 3 HELEW HEIT643%15 72, 000 74,800  -3.7 | Tm#r7—6)
gtE 5 - 4 BhET O MEr1621%1 644 83, 000 86,500 @ —4.0 | [z —14]
*EEH 5 - b BhEd W50 1% 1 78, 500 83,500 6.0 | mEr26-18)
BLE 7 -1 BLEl O IWETTFHR2 26 0% 34+ 29, 000 29,500 | -1.7
BLE 9 -1 BLEm /RTFHIEE 4 3% 1 31, 000 31,500 ~-1.6
BE 10 - 1 ELEm BARTERNE678F1 24, 500 25,700 | -4.7
BLE 10 - 2 BrhEm MLUFEBR1001%S3 17, 700 18,600 | -4.8
BHE 10 - 3 ErEm AL AR 436 7EA4 25, 400 26,300 @ -3.4
BE 10 - 4 BrEmH RTARE2494%F1 24 35, 300 36,800 | —4.1
BEE 10 - 5 el AT AR1799%38 29, 000 30,200  -4.0
BE 10 - 6 BELEm HATHAIT384F?2 42, 000 44,300 | -5.2
B 10 - 7 BEET TFT&RTHO649%4 28, 600 29,500  -3.1

*ETHH AR & o3
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FEHUEH FIEE - QUAEMIRS  204EAlEE | AEIER .
£ 2 EE PHE - i (i R AT R
R -1 FHTh RS 581 194%26 39, 300 39,500 @ -0.5
R - 2 FHh JZEFBAMINL 18 2%3 3 14 53, 100 53,400 | -0.6
i - 3 FHh BRI 1317%3819 23, 400 24,300 -3.7
. 5 - 1 Fach BINN1TH127%2 147, 000 148,000 0.7 | f@ii1—16—12)
PR 5 - 2 il FOW2THI 1%L 64+ 82, 700 83,700 | 1.2 | romz—6-3)
PR 5 -3 il PRAHT 5 2 4% 7 92, 400 93,000 0.6 | [¥aErs -2,
PR 5 - 4 FH MAE1TH157%2 88, 500 89,000 | 0.6 | #E1-2—5]
PR 5 - 5 FHh FHEFRE1814% 1 44+ 90, 600 91,000 | -0.4
555 H -1 BT faf%1 - BT R 13 0% 6 4+ 61, 300 62,400 -1.8
* 55 H -2 = FRLET 4 2% 3 84, 200 85,800 -1.9
555 H -3 BT BIFS3STHES506 1%&7 76, 300 76,800 | 0.7 | THUF3-12-14)
¥ - 4 & T #0059 9% 45,200 46,300 | -2.4
¥ -5 = MATHE 1 117%24 61, 600 62,700 -1.8
¥ - 6 & T EWR3TH22 1% 71, 800 72,900 | —1.5 | T#EBi3-18-23]
¥ -7 & T SRR 3 2 2 4 %4 60, 300 62,500 -3.5
5= H - 8 & T ERFTIR1T7T37%H6 53, 100 54,200  -2.0
55 H -9 & T JIHEITSILIZE\IERT 1 0 8 07 6 32, 500 33,500  -3.0
i - 10 5 T JIARMT 5 LG = 4 9 7 % 2 17, 800 18,400 = -3.3
Emo5 - 1 = RKi@E7TTHS8406%F1 80, 300 81,900 = -2.0
EH 5 - 2 = RKE2THAEK4 106, 000 110,000 | -3.6
BH 5 -3 BT SRET A3 9 7E 1 62, 100 64,300 -3.4
BH 5 - 4 BT JIRRMTZ L4 6 5 03K 9 48, 000 49,500 -3.0
BEH 7T -1 BT M2TH6430% 52, 500 53,600 | -2.1 [Riz—21-8)
EEo9 - 1 = WHT2 09 3% 1 34, 300 35,400 | -3.1
BL -1 =] HETRES16%F15 73, 000 74,500 -2.0
BL -2 EEsi MARTHIM3 1% 20 82, 400 84,500 -2.5
=+ -3 =] JEEFTN%1896%6 1 61, 200 63,000 = -2.9
s -4 =R EAFEF 36 285 62, 000 63,700 -2.7
s - 5 =R JIEHETET 1 9 0 FSh 91, 000 92,000 = -1.1
R - 6 =i EFHFELE7EHELQ 67, 900 69,800 -2.7
s -7 ] KT /R 5% 5 24+ 53, 000 55,500 | -4.5
R - 8 EEsi MEFETFT659%10 57, 500 59,000 | -2.5
*E -9 =] EAHE1ITHE2111%S8 79, 500 81,400 | -2.3 | MEAR1—7-5]
R - 10 = FHRJNENT 16 7&2 4 72, 500 75,000 | —3.3 | FEdilEAr6 —2 2
[ - 11 =] HIEHT 4 2 0 &S 117, 000 117, 000 0.0
=+ - 12 =] JNESHT 1 5 53 99, 500 102,000 = -2.5
5] - 13 =R BIFFREIR3 4 3%2 64+ 66, 500 68,300 -2.6
5] - 14 EEsi FETER#1085%3 62, 800 64,500 -2.6
5] - 15 =R IR 4 6 % 72, 500 74,500 | -2.7
5] - 16 =] IRF2IM8 9 4% 3 64, 200 65,900 -2.6
5] - 17 =R BEHTENT19 7% 1 50, 700 52,000 | -2.5
[ - 18 =] ARETHNR 1 0 4% 4 4+ 77, 000 79,500 | -3.1
5] - 19 ®BEE FLh SYRFHFARI2EL 1 59, 000 - -
5] - 20 =R JEFEFHE 138 7%/ 1 2 72, 400 73,900  -2.0
1 - 21 il HETFTTFRKEF304%S3 74, 500 76,100 | -2.1
5] - 22 =] R RERREL0 2% 1 1 79, 500 81,700 = -2.7
5] - 23 =] Keili1461%26 65, 700 68,000 -3.4
5] - 24 =] AFASHMT 1 0 1 53 1 6 4+ 74, 500 76,800 | -3.0
5] - 25 =] FRETRMINFS 78%1 8 103, 000 104,000 | -1.0
5] - 26 =R AR 4 9% 1 14+ 87, 000 89,200 -2.5
5] - 27 =] METFAIFR 11 96%S 83, 800 86,000 = -2.6
5] - 28 EEsi SR 3 0% 94, 000 96,000 = -2.1
=1 - 29 mH)-1E+TH P2 TEHIT36 5 9%5 67, 500 71,800 | -6.0
5] - 30| mE-2 E T FMRETHR 28 3 6% 3 46, 000 52,700 | -12.7
5] 5 - 1 EREsi FRETEERO 3 9% 1 1 69, 500 71,500 | -2.8
=1 5 - 2 =L RT3 7 4% 7 99, 000 100,000 | -1.0 | [hr17—13)
5] 5 - 3 =] HLH7 3 8% 108, 000 110,000 | -1.8 | fe+mri14—6,
5] 5 - 4 EEsi JNEET 7 9% 123, 000 124,000 = -0.8
5] 5 -5 =R AHiBEFEEA125%2 8 102, 000 104,000 -1.9
5] 5 -6 =R HE2TH230%34 106, 000 111,000 | —4.5 | (&m2—6—4)
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FLYES Hi4E - QUMM | 204K A@hER _
I FRE - 7% (\/nd) | (/nd) () HEEE

w1+ 5 7 BER HEHT2 2 1%&2 108, 000 -

*ZL 5 - 8 EEsi AR30%FE1 1 114, 000 119,000 = 4.2 | TAE10—17]

=t 5 9 |ELis-1m miTEE1 3%S 67, 500 71,800 | -6.0

=t 7 1 =] HHF TR 1 3% 14+ 77, 500 79,500 @ -2.5

w9 1 i} SRFHIAR6 1 7EF25 39, 100 40,000 -2.3

B 9 2 =] KEFTH+E2 46 5%&%4 42, 800 43,800  -2.3

=+ 10- 1 EREsi AT EML; 53 7%6 6 48, 000 49,900 -3.8

Bt 10- 2 EREsi {GiEFHHT1 2 7 3% 1 60, 000 61,600 -2.6

Bt 10- 3 =] KFFINE2855%3 49, 000 50,700  -3.4

Lt 10- 4 =] JNWRTFARERS 9% 2 45,300 47,200 | -4.0

*# 1 A T ERETETH2 7%1 6 81, 600 83,300 -2.0

A H 2 A T TZEHE16%F1 145+ 74, 500 76,100 | -2.1

A H 3 A T HFRFAEME3035%2 1 55, 800 57,200 | -2.4

A H 4 AT ETRIT2TH2%LS 70, 300 71,300 -1.4

A H 5 AT Bl BRI 9 6 27% 3 54+ 65, 100 66,800 = -2.5

A H 6 AT KRHT1 4%6 62, 700 64,200 -2.3

# 7 A T WHEZFHE1251%3 1 54, 500 55,600 | -2.0

# H 8 A T RHF K509 6&F 1 25, 400 26,300 -3.4

# H 9 A T MHPEFET6 8 53 2 39, 600 40,500  -2.2

A H 10 AT mHEFEI 1 6 7% 24+ 54, 600 55,700  -2.0

% 11 A EEPBTNTEL 12 1842 34 49, 800 51,000 -2.4

EH 5 1 AT FIR589%6 107, 000 110,000 = -2.7

BEH 5 2 AT BATFEER 26 1 0%6 86, 100 88,300 -2.5

BEH 5 3 AT A1 932%1 40, 300 41,500 -2.9

BEH 5 4 AT APFEFAP T 2 1F 245+ 59, 000 60,800 -3.0

EH 5 5 A T HTFHRHRT78EF?2 80, 400 82,300 | -2.3

BEH 7 1 A T TERET F)IES559%F1M 65, 600 67,600 | -3.0

EH 9 1 AT FHREHTHTEM1F 14+ 25, 800 27,100 | -4.8

MEHO10 - 1 AT BRFTHRIBT7 9 8% 2 37, 100 37,600 | -1.3

BEH 10 - 2 AT SRS FAI5 7 0% 7 41, 800 42,600 -1.9

H 10 - 3 AT HiT+7T#H 4 6 &K 44+ 41, 000 42,100  -2.6

MEHO10 - 4 AT KEFE=H206 2%1 8 40, 200 40,800 = -1.5

MEMH 10 - 5 AT BRI 9 6 4% 1 38, 300 39,000 | -1.8

W 10 - 6 A T mE1209%K4 47, 000 49,200 -4.5

#EE 10 - 7 AT TR TS 3 0 3% 3 1 44, 500 45,500 @ -2.2

BEHE 1 BEHEETH BRdb4 TH12%3 81, 800 84,100 2.7 | Mkd—12-24)

BEHE 2 BEHEETH BeHE2 TH8H1 1 83, 900 87,100  -3.7 | 28— 23]

T 3 BEEETH LEmiT 2 8% 1 04+ 62, 400 65,200 -4.3

* IR 4 BEEETH FE/NI2TH4%F1O 87, 500 90,900 -3.7

T 5 BEHET KA1 TH14%1 2 75, 800 77,800 -2.6

T 6 BEHEET INETFER25 7H2 2 75, 800 77,800 -2.6

Bei 7 BEEEH M4 TH1 90 1%5 57, 400 58,000 —1.0 | LMigmra—2—17)

BEHE 8 BEHEETH PEAII4ATHLOE2 24 82, 500 85,700 | -3.7

T 9 BEHEETH HAHsNTERE1 25 5%3 77, 300 78,000 -0.9

S 10 KH)1-1 BEHEE T EHHTEEE1 82 1 &K 34+ 30, 900 32,000 -3.4

BEHE 5 1 BEHETH FET3TH102%44 92, 700 96,300 | 3.7 | THmr3-3-37)

BEHE 5 2 BEHETH AET4TH710%&1 82, 800 85,800 | -3.5 | TAm4-10-31)

e 7 1 BEHEETH e =ah213%K2 69, 600 72,000 | -3.3

BEd: 10 - 1 BEHEETH RESETATHEH447E2 48, 700 49,700 -2.0

BEHE 10 - 2 BEHETH — {12 0% 2 0 43, 800 44,600  -1.8

BEEE 10 — 3 | Kopilo-1| BEEETH FHMTHT7 9 3%3 42,400 43,700  -3.0

BEHEE 10 — 4 | Km0z BEEETH FEBEMATRES 2 0% 40, 600 41,700 -2.6

*HI| 1 HlH FR3THS 1% 75, 000 76,400 @ -1.8

Ei:l| 2 B kM2 2 4% 64, 500 65,300 -1.2

H1| 3 H1 B ST H 9 8 8% 7 50, 500 50, 500 0.0

Hl 4 Bl R m2THG6%F13 66, 500 67,300 -1.2

Ei:l| 5 B ST THZ21 2544 69, 000 70,200 | 1.7  TAff1-16-12]

H1 6 B HH#EE561%34 52, 500 55,000 | —4.5 @ [##EH14-13]

Hl 7 B FHTE/ H283%F25 36, 100 37,200 | -3.0

gl 8 B AHFHEE1 41 0% 9 35, 500 36,800 | -3.5

*ETHH AR & o3
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- sk S 2UEEAMIRS | 204FAfikE  ASEhER R

& 5 &5 (F9/nd) (4 /nd) (%)
Ei:l| -9 B BrE1TH19%11 51, 000 53,300 | -4.3
Hh11 - 10 B BEETA /AR 1558% 23, 400 23,900  -2.1
Hl - 11 HlH TEF=A4879%5 21, 400 21,800  -1.8
Hl - 12 Bl KFTFHRERS 36 7% 1 16, 300 16,500 -1.2
i 5 - 1 B BRI 8 & 4 N 155, 000 158,000 -1.9
Wil 5 - 2 HllH BIIFPERT 4 1 7% 3 75, 000 76,700 | -2.2
I 5 - 3 B M2TH1I1%&1 115, 000 117,000 = -1.7  (2—1-16]
i 5 - 4 BT RRAESTHARR S 7 33 29, 900 30,500  -2.0
I 5 - 5 B KR THI 45 5% 1 37, 800 38,500 | -1.8
i 7 -1 B MMAT 025 0% 14+ 52, 800 54,500 | -3.1
i 9 - 1 B TEAFIETF 2 4 3 5FH 31, 500 33,700 | -6.5
A -1 R T THEFH A3 7H1 20 71, 500 72,800 | -1.8
253 -2 HRFE T MHEL3THLOES 72, 700 74,300 @ -2.2 | TEHIIB3—10-6]
253 -3 HERE T HA3TH19%9 103, 000 105,000 | -1.9 [m#E3-19-10)
i35 -4 FRRE T EHITTH184%1 74, 300 75,100 | -1.1 [#Em1—9—5)
253 -5 HRRE T FHET2TH1035%4 68, 000 69,700 2.4 | TEHr2—12-5)
253 - 6 HERE T FER 54 TH13%3 82, 800 84,700 | -2.2 | ImmmAa—13—3)
i35 -7 HRRE T THHFEH26%F15 55, 000 57,200 | -3.8
A - 8 FRRE T HEK2TH430%5 68, 700 70,200 | 2.1 [&k2-6-3)
A -9 HERE T BEM S TH1%&13 1 66, 600 68,700 3.1 | (EM5—24—19)
* L - 10 JERE T AT 2TH S8 1 8% 64+ 80, 000 82,000 | -2.4 | ThmliErz—4-23)
i35 - 11 AT fit#E4 THSEL 4 68, 000 70,200 | -3.1 | (#l#4—5-38]
A ~ 12| [EER-1 | R I S5 T e S R AT 3 7 8 % 1 55, 300 56,100 | -1.4
BERZ 5 - 1 HRFE T B3 TH23 6% 70, 500 74,200 | 5.0 T3 -3-209)
BB 5 - 2 FRRE T H¥E1TH15%1 9%+ 115, 000 119,000 | -3.4 [m@1-15-13)
MR 5 - 3 R EFBTEARA0 9% 044 66, 800 68,800 -2.9
BB 5 - 4 FRFE T ML 2 THO%L 3 81, 800 85,000 3.8 | Mtz —9—26]
BERZ 5 - 5 | [ER5-1 BERL T FIETPNAT R H 6 2 3% 4 4 70, 800 73,500 | -3.7
BEEL 7 -1 HRFE T RIEFEAL 4 5 8% 34+ 47, 800 49,300  -3.0
MR 10 - 1 HEFE T ERTAEST 2 1% 27, 300 28,100 | -2.8
R 10 - 2 R T HMIT3TH2%ES 48, 400 49,500 | -2.2
R 10 - 3 AT U5 6 & 48, 600 50,300 -3.4
BERL 10 — 4 [WEB10-1] kL W R A BRI OB 4 5 8 F 4 4h 37, 500 38,900 -3.6
s - 1 mEsGET NSHTAFEK45 7%S8 79, 000 81,500 | -3.1
s - 2 HEASET B EMmNn 189 2% 1 244 96, 000 98,000 -2.0
s - 3 HES T ALARTHEM 4 7 7% 64+ 69, 000 70,000 -1.4
MRS - 4 BER MBS SR T T/ MM1629%4 86, 200 - -
sy - 5 g KIKTIREI2 3 8F 1 14+ 67, 500 68,500 -1.5
Mg - 6 mEgssT AR TES6 2 3%FS 73, 500 74,800 | -1.7
s 5 - 1 mEsGET JISHETRA6 4 3% 545+ 108, 000 111,000 = -2.7
B 9 - 1 MBS T B 1T H9 4% 14k 27, 000 28,000 -3.6
B 10 - 1 HEST AALTRE1689%F 10 52, 500 54,000 = -2.8
g 10 - 2 g HILFHIRIE T8 4 2% 4 53, 500 54,500 | -1.8
RSy 10 - 3 BEET NEBEERX Y 1158%1 4 67, 000 67,500 -0.7
S 10 - 4 T PEERTFIL1674%K25 48, 800 49,600 @ -1.6
18+ -1 LI FAL3TH3IHEL 2 68, 000 68,800 -1.2
13+ -2 I FERT 1 5% 2 14+ 65, 000 65,900 -1.4
8t - 3 I B HMS5 9 1% S8 36, 000 37,700 | -4.5
13+ - 4 I TIWR1TE10%1 8 51, 400 53,100 | -3.2
13+ -5 I JEMTEd 2321 90 5%8 40, 400 41,700 | -3.1
13+ -6 I JIEFTHEH3 1 2%3 23, 300 24,200  -3.7
13+ -7 I BEEHET7 8 4% 4 24, 500 25,200 -2.8
13+ -8 I SEHFIUM1357%7 37, 900 39,000 | -2.8
WH 5 -1 LRI FMT1 4% 4 70, 600 71,800 | -1.7
WH 5 - 2 I AT RS 1 4% 344 51, 400 53,400 | -3.7
[H 7T -1 I SEFHRM1202%1 42, 600 43,800 @ -2.7
R[H 9 - 1 RHH MEFEREmS5 4 8%1 38, 400 40,100  -4.2
TH -1 T ANTH748%45 57, 800 59,000 | —2.0 [ATH38-16]
TH 5 -1 T —TH137%4 111, 000 114,000 | -2.6 | ~TH3-9]
biztig -1 I FRfr - Refar 2 1 6% 1 1 93, 500 94,000 -0.5

*ENTHAT AR & O el S 2 7= 3,



R A4 - 2UVHEATIAS  204FAMkE  AEhER _

£ 2 EE PHE - i (m/m) (/) (%) | EEEE
P 2 HEEFTH PelFE kA1 10 3% 2 3 98, 500 99,000 = 0.5
R 3 R T e 1522%1 3 76, 000 77,000 | -1.3
P 4 HEEF T FUBHEFEES 1 6% 9% 100, 000 101,000 | -1.0
HEE 5 1 HEEFTH ST b R 4 4 23 24k 120, 000 120, 000 0.0
HE 9 1 YR SRFHILT 8 F 24+ 43, 500 44,500 @ -2.2
W 10 - 1 HREFTH FEMFEER1465%34 84, 000 85,000 -1.2
W10 - 2 I EEFH3112%32 66, 500 67,500 -1.5
W 10 - 3 I LR 6 2 1% 1 6 70, 500 71,000 | -0.7
e 10 - 4 HEEFTH FEIFREE2255%16 28 8, 700 8,950 @ -2.8
i) 1 e T B )11 04 0% 140 73, 300 73,600 | -0.4
e 2 WPE T MEHTFLAZ39T7TES 67, 600 67,800 @ -0.3
W 5 1 P TH FR3THL13%13 74 95, 000 98,900 3.9 | T3 -3 33)
W 9 1 e T HEFET3425F 27, 400 29,200  -6.2
WP 10 - 1 WvE T HATTHM2 8 2 0% 6 40, 100 40,300 -0.5
WivE 10 - 2 e T FEBTERES 91 6 &5+ 33, 800 34,900 @ -3.2
Fa 1 P B mEHmoE 18 0% 1 71, 000 71,500 | 0.7
e 2 FEf EEFTHIM6 5 1% 3 68, 500 70,000 | -2.1
Fa 3 FEH hERF R 2 3 7 &5 26, 500 27,700 -4.3
Eii=) 4 FEH FHEFTRE2 66 6 %1 44 54, 000 56,000 | -3.6
e 5 FEf B BERIE1 7% 38, 400 39,000 | -1.5
e 6 FEf EZ&7IFN80F 1 37, 300 37,900 -1.6
e 7 FEH BINFExX354%1 19, 000 19,300 -1.6
Eii=) 8 FEH FABETEANT34F1 40, 200 41,700 -3.6
e 5 1 FEf HWABETIHT 6 2 6% 4 113, 000 115,000 -1.7
g 5 2 FEH +EFHO466%1 4 80, 500 82,000 -1.8
HE 5 3 FEH HFPRTHET 3 5 5% 2 51, 500 53,500 | -3.7
HE 5 4 FEH JUIEFEE 46 0% 3 48, 000 49,800 -3.6
TV Ny 1 HHRTET FEATE/IR156 58K 14+ 20, 900 21,200 | -1.4
FEN AR 2 T AP TR 4 7 7T/ 1 15, 300 15,700 | -2.5
AR 3 g APTEE1 10 4% 8 19, 500 20,000 -2.5
AR 4 T APFEMRS5 3 72F10 22, 700 23,100  -1.7
HETIE 5 1 ARG BT FREEES 34 2% 2 32, 000 32,800 | -2.4
)1 1 H ) WM2TH106%1 44, 500 45,800  -2.8
)1 2 )17 HRF=H1 0 4% 24+ 26, 000 26,400 -1.5
)1 3 )17 JNEFH»AHT1908%4 13, 500 13,800 @ -2.2
)5 1 45)17h HH1%16 72, 500 74,000  -2.0
FrEOE 1 FEoET EMFHIFT4 6 5% 3 78, 500 80,000 = -1.9
FrEOE 2 FEoEf REFFEHO5 8% 87,700 88,600 -1.0
FrEOE 3 FOooET FAFAI}E620F1 88, 000 89,000 -1.1
FrEOE 4 FEOETT ZHEEHK150%6 83, 800 84,700 | -1.1
PO 5 PFEOET HETHEITF120%9 85, 000 85,500 -0.6
HreoE 5 1 PFEOET HRTHZE241%F2 97, 000 97,500 -0.5
FaoE 5 2 PFEOET MiETEM#T7 3 3F4 113, 000 114,000 -0.9
GEoE 5 3 FOoOET HETFE /B2 9 9% 1 1 91, 500 92,600 | -1.2
greEoE 10 - 1 FEOET MILHTEHA7 6 0F 2 62, 200 63,500 -2.0
FaoE 10 - 2 | #ER FEOET ELLATHRAL 2245354 9, 300 - -
oz J5 1 W2 B BRSO 4 1 7% 2 32, 400 33,200  -2.4
oz J5 2 Wi H WHEE1THS 0F 48, 500 49,100  -1.2
Pz 5 3 Wi d BTt 2 FE2306%F9 40, 600 41,700 | -2.6
v 1 W2 MBS 6 % 1 48, 700 50,400  -3.4
L5 v ) 2 W2 TR 4 7 5% 1 45, 500 46,800  -2.8
BzE 9 1 Bz JF i T AP 6 16 5% 1 24, 800 25,600 | -3.1
W 1 ESHEGTE REARTRR¥1280%37 34, 500 35,000 | -1.4
HFE 2 miEspEer AL 6 4% 1 14+ 54, 200 54,900 | -1.3
HFT 5 1 mersprEnr FRETIE KR4 1 7% 1 78, 200 78,800 | -0.8
MEIpELS 1 R REE 126 0%7 8 25, 500 26,600 @ —4.1
MEIpELS 2 BRI R BT 6 4% 5 34, 800 35,400 | -1.7
MEIRE Y 1 Epcapmanr g E 4 9 5% 8 50, 200 50,500 | -0.6
e 1 wmierprEnr FERTHES5 0 5% 16, 600 17,000 @ -2.4
A E 2 miRmEpE PATE JA13 4 3% 14+ 27,100 27,700  -2.2
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FEHES A4 - QUEANRE  204FfKE  AEhER —
I FRE - 7% (\/nd) | (/nd) () HEEE

N -1 PRI LA 7 155 50, 200 51,800 -3.1
N -2 EBRpT HHTEH S 9% 2 22, 500 23,100 | -2.6
AR 5 - 1 PRI AT TR 3 6 3% 6 4k 57, 500 60,500 = -5.0
e -1 et BT HZ1 56 5% 1 544 45, 500 48, 000 5.2
EHE - 2 wpemmpror {ZREAR 1 1 3 6% 2 53, 700 55,400  -3.1
FEFT - 3 e FAETRAMRL 1 36%5 28, 000 29,000 = -3.4
[EEFae - 4 wreapraer ZZRBEFERNG6 6 3F 1 39, 500 41,000 @ -3.7
EERT 5 - 1 mrmmepEr (RS2 7 0% 1 69, 000 70,500 -2.1
P -1 MR T (TR /B2 5% 9 104, 000 105,000 | -1.0
P -2 myr R EATKEH 1 0 0% 64+ 96, 000 97,000 -1.0
P - 3 M ERE N (5% 6 8 5F&K 7 96, 500 97,000 -0.5
i - 4 P RRE I RS FIRIL 7 2 3% 3 2 81, 300 82,100 = -1.0
W@ 5 - 1 MRS FE A 5 2% 2 111, 000 112,000 | -0.9
BrE 10 - 1 mrEs sl AT 36 7&F 1 24+ 90, 500 91,000 | -0.5
WKET -1 seoftrRioker )R TR R 2 1 8 % 6 4 117, 000 118,000 | -0.8
EAKET - 2 BT (R TFHREE 2 2% 144 126, 000 127,000 | -0.8
WEAKET - 3 BREER AN fEATFE 108 3% 4 99, 000 100,000 | -1.0
TEAKET 5 - 1 BEfURREkET (R R 01 4 3% 74 142, 000 142, 000 0.0
ER -1 BRGRRRIRNT P — TR 6 6% 3 3 103, 000 103, 000 0.0
ER -2 BEURRESRET BRIP4 4 0% 24 109, 000 109, 000 0.0
ER -3 BEEEb R AT RT3 1 83% 3 3 128, 000 128, 000 0.0
R 5 -1 BRUERE RN T AP R 1 34 4% 2 133, 000 134,000 = -0.7
R 10 - 1 s ERN FRETT 7728 9%9 66, 500 66,900 | -0.6
NN -1 Bt/ by IR 6 1 3%/ 2 52, 700 53,800 -2.0
NN -2 seEE LT CEBTIEE350%2 1 45, 200 46,200 | -2.2
/N -3 BRGRRny ZEETH 1 5 2% 1 4 31, 800 32,500  -2.2
AN ITE | seaEp /LR BRI TR A 5 4% 2 7 57, 000 58,900 | -3.2
AL 10 - 1 EEHCRRMLUET KSR 6 4 3 1 28, 000 28,700 | -2.4
AL 10 - 2 BREELMUT HEAARTE LG S 1% 7 42, 200 43,100 -2.1
AN 10 -3 BRG/ by BRI 4 9 3F S 36, 300 37,300  -2.7
AN 10 - 4 st by IR TERS 8 3% 1 1 35, 000 36,000 | -2.8
2 -1 B PETIART 74F 10 27, 500 28,300 | -2.8
2 -2 B NETHE3890%6 23, 200 23,900 | -2.9
21 -3 e R ERAL8 4 0F 54 9, 300 9,600 3.1
H -1 RS I EHETFHR)IE3 7 9E& 7 48, 100 49,200 | -2.2
& H - 2 BEEs S RT3 41%10 45, 500 46,500 = -2.2
HH 5 - 1 R (EE PR 2 23 2% 1 1 49, 100 50,700 | -3.2
JIRA - 1 v s FREFREF 105 0% 1 21, 500 22,200 | -3.2
JIARAS - 2 R LT RME1 46 2% 4 15, 000 15,500 | 3.2
JIRRA - 3 pespArr T-OETHEER 10 0 1% 34+ 15, 800 16,300 @ -3.1
JIRA - 4 v A BURTEIBH L3 1 8% 2 4, 950 5,050 | —2.0
JIRRA 5 - 1 s FREBTEHBE7 85%5 24, 500 25,400 @ -3.5

7 -1 JEERIARIT PERETRO2 7 4 3%S8 33, 800 34,900 | -3.2

7 - 2 BT AP THEBL6 2 3% 1 6 31, 700 32,700 | -3.1

H 5 -1 JEERRARIT R RT1 00 3% 1 1 45, 200 46,200 | -2.2
s -1 R EN ETAE 135%1 62, 500 63,500 @ -1.6
s - 2 AR FET A 301 8% 3 52, 000 53,500 | 2.8
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